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New active phase in 2018
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Cumulative eruptions
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Open questions

Photo Bruce Jensen

Why did Steamboat
become active again?

What controls the
interval between
eruptions?

Why is Steamboat so
tall?




1. Why did Steamboat become active?
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1. Why did Steamboat become active?
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No change in reservoir temperature.
Internal hydrothermal processes led to reactivation?



Eruption interval (days)

2.Controls on interval between eruption?
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Jet height (m)

3. Why so tall?
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Belousov et al (2014)

Deeper cavities are hotter and hence have more

enthalpy



Open questions

 Why did Steamboat become active again?
Unclear. Internal processes?

 What controls the interval between eruptions?

Internal processes modulated by water levels

 Why is Steamboat so tall?

Depth of shallow reservoir supplying water controls
energy available to power eruptions



